For English version, see opposite side. 3. NAFY hEEVYLU—ILITEL. RAETYIRIL M EFHDFITET .

Orientalmotor  |[|{{INWAIN

HL-17156-6

m &% H 8B =

EASYU—XEHRH Yty b
PAES-S-2X/Y. 4X/Y. 6X/Y (NPN&HF)
PAES-SY-2X/Y. 4X/Y. 6X/Y(PNPHH)

BEVLFLEREHUNESTIVET,

COEURHRIAZICIE. REORVEVLWHEPEZE EDFESEZRLTVET,
s BURSRIAE Z K< BFRHCIRY . BRERECHBENIZETL,

¢ BRFCBOEHEEF WDOTHROSNDETBITUTREL TS,

TNETUTRILES (M3)
fETILD:0.6 Nem

IR DHESR
m fHHFEDhE—E

4, AR IO —TIEE U ICERLE T,
EASM4 & EASM6 (&, IR 7 IfaI&or — DI E VY U —IVICITCEE T,

©®
m bty FORB
ROBDOBTNTH>TVB T EERBLTL T, FRULEWEBLTVSE

EASM4,EASM6

eV tEy hER | BRARE | EYUHN | D1 b0V YRS BlE. BEVKODZIE-EEMFE TIEEI SN, JRJIHAE#T—TIL
PAES-S-200 EASM2 o6 s VY 3@ -
EE-SX674A o DRI IHFTTEET =TI (2 M) o 3K —
PAES-S-40 EASMA NPN (# LOVHRAL) c EVURNEE. ... 3@ ®
PAES-S-601 EASMé6 o EHAR 118 ART IR — T
v « ETUTRIL S (M3 12
PAES-SY-20] EASM2 ] : Q%Q”’ Vb (M3) EN 5. EHARERELETD ., XF—TWIAF YF=DIWI1F
PAES-SY-401 EASM4 PNP EE-SX674R /\%/\1‘17“)[] ~ (N\25) ................................... 2 2& _ N > AT N N _ N l R DURHDI
(F LOVERAH) « REFY R (M3) .o 6@ XTF—=TIWI4F: RATUTRIL h(MZ.S)Zﬁt*ﬁ%T-?)IJ{EJE@TJ OIS —=_ |

PAES-SY-60] EASM6 BRI T RE W, o RILN |
- _ _ . - YF—TIIA T BEFHTT—T[CRCNITZIEL. ARV sy
&0 OIClF. XXF=TIWIL N KBYVYTF—TIIAHHAVET, (M2.5) TENARZE D — 7 [CEW T TL IR EL, .‘ﬁﬁﬁl\)bﬂ:o.m\l-m/ !

SEEALL I.l LD
N = N N AR s
BEE (T YOREN ./ —TIF—TYDEB) . £
PAES-S-2X/Y. 4X/Y. 6X/Y(NPN7J) PAES-SY-2X/Y. 4X/Y. 6X/Y(PNPHi77)
m g & iI:mm
s ® s ® Y YRHIE SEE @ mm)
e O | & S D O 2 RO—21' 50 mmOBE. RUNTENEEYTE 2 BT,
2 out = DC5~24V . 2 Out |50 mALF T DC5~24V < EUYEENRE. BORREICORUATSNET,
{_1 IE o |[—100mALT IE o an B3, XF—TIWIATOFITT. YF—TIWIA FTH Y YRFHIBRRAL T,
B =] =3

—— 2muF | —— 2muF |

¥ BEVYOREBRERSECLOTEDUET, REEMBERRITDE, /—IIWIO—XICBRUFET,

YUY DERELERT DTG BYUDNS 2 mUTOMEICERI YT VY (10 pF. 50 V) ZEA LT EE L,

k)

A 535:1'%\ BERETE Yy MERURFBLTL REN, - EBREORRCHEY F T,

« BV OERRG. BTRICRUEBATRYMIFITIREL, BTAAEMEZ5E. EYIHRETERL. £l
ERARD N > TV YD IRIET ZEREICHRY £,
EEBRET IR INTET —TILEBRULBONTL TV, EYYH BT 2ERICHYFT,

c EU YRS EPEREBHNR S (S ICRUMFZE =R, STRNEORUEBELTI T,
s AT IMOIEIT —TIEE YYD SNT EFE. T—TILES|DRSTBVTLIEE L,

LI d0): L b v)

1. RERERILEM3) T, 8 ZEYIENEEICEELEY,

2. NAFRIL hERAT Y M(EM3) 2 YEGEEICIRYHIFE T,
NATY MY U—IVITBI e, MHMIFRBNTIREEL,

FNAETUSRILS (M3)

#INIL2:0.6 N-m REF vk (W3)

EVYRHER TNETUSRIVS (M3)

_LSEUYRIE HSEUHRIMMIE X HRRE XF—ITNIAT YF—ITNIAT
AHBRSHIE HOME &/ DHRHINTE L5\/ L6 L7
L2\ /21 (L3) ZhO—7-16(HOME >/ fEFES) L7 L14
[ L 1
M 9 Iil'G) =G
lL g1 L ~ ! o !
©) ® ® - O -
,—'—[; =
[ : ©g \_\‘%:: :I:@y_} ,it—i ol o L ! | © L !
S ® S ®
L1 | 21 HOMEE S EiR ~ +Lstvy L4 = L8 = L8
Lstvy
EEFASAY L1 L2 L3 L4 L5 L6 L7 L8 L9 L10 L11 L12 L13 L14
EASM2 29 3 45 45.6 3 29.1 | 30.3 | 36.3 | 244 | 179 6.7 19.1 | 20.1 10
EASM4 26.5 2 65 54.4 2 23.7 | 39.5 | 455 | 25.8 | 19.3 8.1 39.7 | 40.7 15
EASM6 41 5 80 73.4 5 29.9 48 54 37.3 | 30.8 | 19.6 | 51.2 | 52.2 10

B YF—DJILI A THEER SZEIE (B mm)

12
L1 2X@3 61+0.1

o o oo

- -
BEFRSAS L1 L2 L3
EASM2 20.1 £0.2 10 4
EASM4 40.7 £0.2 15 35
EASM6 52.2 £0.2 10 4

ﬁ%*ﬁlatyﬁt%’fbﬁmcﬁ5ICEWMTJID“CQ‘:“‘JLAO )
BN E VY ETFHT B E T, PEREITELRE CBEL

a3

L\O

Orientalmolor . BAZ0MORICHIFZFUIVINE—I—HKRE
HOBREEFIEETT

© Copyright ORIENTAL MOTOR CO., LTD. 2012
2022 &6 BHlfE

AUIVEIVE—F—HARH

BREAVSHERO GU—a-L T, EE-PHSHSETRIBAVRITET.)

BNESHVOSOE B BRE-UEX | MENEEBo e OREBERD
HWERO | BERIEREYI— FII-Y—ERtEVI—
B FH/9:00 ~ 19:00 FZAIE5E  FH/9:00 ~ 17:30
0120-925-410 0120-911-271
0120-925-601 0120-984-815

WEBY A FTHBHVEDEPTENERIHFFTVET, https://www.orientalmotor.co.jp/




Orientalmotor

OPERATING MANUAL

Thank you for purchasing an Oriental Motor product. This manual describes product
handling procedures and safety precautions.

* Please read it thoroughly to ensure safe operation.

¢ Always keep the manual where it is readily available.

Sensor set for exclusive use of EAS Series
PAES-S-2X/Y, 4X/Y, 6X/Y (NPN output)
PAES-SY-2X/Y, 4X/Y, 6X/Y (PNP output)

Checking the product

B Combination list B Items included in sensor set

% Verify that the items listed below are included. Report any missing or damaged items to
Sensor set model Applicable Sensor Photomicrosensor model the Oriental Motor sales office from which you purchased the product.
product output
* Sensor
PAES-S-201 EASM2 « Flexible cable with connector [2 m (6.6 ft.)]...
PAES-S-40] EASM4 NPN EE-5X674A ¢ Sensor mounting bracket
(OMRON Corporation) « Shielding plate
PAES-S-601 EASMé ¢ Hexagonal socket head screw (M3)..
PAES-SY-2[] EASM2 ¢ Hexagonal socket head screw (M2.5)..
EE-SX674R ¢ Hexagonal nut (M3)
PAES-SY-400 EASM4 PNP (OMRON Corporation)
PAES-SY-601 EASMé6

The box () in the model indicates X (X-table type) or Y (Y-table type).

Connection example (when the sensor is of "normally open")

PAES-S-2X/Y, 4X/Y, 6X/Y (NPN output)
T ] Brown ©)

PAES-SY-2X/Y, 4X/Yv6X/Y (PNP output)
T ] Brown @
= Lo O

Black Out T 5t024VDC - Black Out | —>50mAorless = 5t024VDC

<—100 mA or less
4<_l I Blue @ I Blue @
LZ m (6.6 ft.) or less LZ m (6.6 ft.) or less

=1 < =1 <

* Normally open or nor ally closed can be selected by the connection method of the sensor. When selecting normally closed, connect the brown lead and pink lead.

To extend the wiring length of the sensor, insert the electrolytic capacitor (10 uF, 50 V) to the position of 2 m (6.6 ft.) or less from the sensor.

Installation

ACAUTI 0 N Do not install the sensor set while the power is being supplied. Doing so may result in injury or damage to equipment.

m « Be sure to install the sensor and shielding plate in the direction shown in the figure. Installing them in the wrong direction may disable sensor
\/\/ detection or cause the shielding plate to contact the sensor, resulting in sensor damage.
¢ Do not connect or disconnect the flexible cable with connector while the power is supplied. It may damage the sensor.

@ ¢ When installing the sensor mounting bracket and shielding plate to the motorized linear slide, be sure to use the included screws.
¢ When removing the flexible cable with connector from the sensor, do not pull the cable.

B Installing the sensor

1. Secure the sensor to sensor mounting bracket with the hexagonal socket head screws (M3).

2. Attach the hexagonal socket head screws and hexagonal nuts (both M3) to the sensor Hexagonal socket head screws (M3)
mounting bracket. Tightening torque: 0.6 Nem (85.2 0z-in)
Do not tighten because the hexagonal nuts will be inserted into the sensor rail.

Hexagonal nuts (M3)

Hexagonal socket

Sensor mounting bracket
head screws (M3)

3. Insert the hexagonal nuts into the sensor rail and tighten the hexagonal socket head

SCrews.
Sensor rail
Hexagonal socket head screws (M3)
Tightening torque: 0.6 Nem (85.2 0z-in)
4. Connect the flexible cable with connector to the sensor. EASM4, EASMé6
With the EASM4 and EASM6 types, the flexible cable with connector can be stored in the
sensor rail. ®
Sensor Flexible cable with connector
——
> ‘
©)
Flexible cable with connector
5. Secure the shielding plate. X-table type o Y-table type
X-table type: Install the shielding plate to the screw holes on the side of the table Screw holes machining —= |
with the hexagonal socket head screws (M2.5). el =
. i i ieldi Hexagonal socket —_# © ©
Y-table type: Provide screw holes on the load by a customer, and install the shielding 9 ~&
plate to the load with the hexagonal socket head screws (M2.5). head screws (M2.5)
Tightening torque:

0.6 N-m (85.2 0z-in) —lul—qa
Shielding plate ]

E—UH
® ©
B Recommended sensor installation position (Unit: mm)
@ ¢ When the stroke is 50 mm, two sensors can be installed.
« The sensors and shielding plate can be installed to the opposite side in the figure.
 The following figure is an installation example of the X-table type. The sensor installation positions are the same even in the Y-table type.
X-table type Y-table type

-LS sensor-detection position +LS sensor-detection position  Mechanical limit position
Mechanical limit position HOME sensor-detection position L5 L6 L7

L2 21 (L3) Stroke —16 (When the HOME sensor is used) L7 %’Fi
—r— log] =
[ i T i y . EN'G | - [©} |
© 5 | - 5 = 5O
I = e ) oJ B o[
] =1 @ S @
L1 21 HOME sensor™_Shielding plate +LS sensor, L4 5‘ L8 E‘ L8
-LS sensor
Motorized linear slide L1 L2 L3 L4 L5 L6 L7 L8 L9 L10 L11 L12 L13 L14
EASM2 29 3 45 45.6 3 29.1 303 36.3 244 17.9 6.7 19.1 20.1 10
EASM4 26.5 2 65 54.4 2 23.7 395 45.5 258 19.3 8.1 39.7 40.7 15
EASMé6 41 5 80 73.4 5 29.9 48 54 37.3 30.8 19.6 51.2 522 10

B Dimensions for shielding plate for Y-table type (Unit: mm)

12
L1 2x@3 6x0.1
N
DD
< N %} N
— -
Orientalmolor is a registered trademark or trademark of Oriental Motor Co., Ltd., in Japan and
other countries.
Motorized linear slide L1 L2 L3 © Copyright ORIENTAL MOTOR CO,, LTD. 2012
Published in June 2022
+
EASM2 20.1x0.2 10 4 « Please contact your nearest Oriental Motor office for further information.
EASM4 40.7+0.2 15 35 ORIENTAL MOTOR U.S.A. CORP ORIENTAL MOTOR ITALIA s.r.l. TAIWAN ORIENTAL MOTOR CO., LTD.
Technical Support Tel:800-468-3982 Tel:+39-02-93906347 Tel:0800-060708
EASMé6 52.2+0.2 10 4 8:30am EST to 5:00pm PST (M-F) www.orientalmotor.it www.orientalmotor.com.tw
www.orientalmotor.com ORIENTAL MOTOR ASIA PACIFIC PTE. LTD.  SHANGHAI ORIENTAL MOTOR CO., LTD.
ORIENTAL MOTOR (EUROPA) GmbH Singapore Tel:400-820-6516
SchiessstraBe 44, 40549 Diisseldorf, Germany  Tel:1 8005842]0280 www.orientalmotor.com.cn
Install the shielding plate so that the it does not contact the sensor. Technical Support Tel00800/225566 22 Www.orientalmotor.com.sg INA ORIENTAL MOTOR CO,, LTD.
@ . ,9 p ) www.orientalmotor.de ORIENTAL MOTOR (MALAYSIA) SDN. BHD.  korea
If the included shielding plate contacts the sensor, provide the ORIENTAL MOTOR (UK) LTD. Tel:1800-806-161 Tel:080-777-2042
PR Unit 5 Faraday Office Park, Rankine Road, www.orientalmotor.com.my www.inaom.co.kr
shielding plate by a customer. Basingstoke, Hampshire RG24 8QB UK OREENTAL MOTOR (THAILAND) CO, LTD.  ORIENTAL MOTOR CO, LTD.
Tel:+44-1256347090 Tel:1800-888-881 4-8-1Higashiueno,Taito-ku,Tokyo 110-8536
www.oriental-motor.co.uk www.orientalmotor.co.th Japan
ORIENTAL MOTOR (FRANCE) SARL ORIENTAL MOTOR (INDIA) PVT. LTD. Tel:+81-3-6744-0361
Tel:+33-1 47 86 97 50 Tel:1800-120-1995 (For English) www.orientalmotor.co.jp
www.orientalmotor.fr 1800-121-4149 (For Hindi)

www.orientalmotor.co.in



